435/Eco. UG/4th Sem/ECO-H-CC-T-8/22 d)  What is Lerner measure of monopoly power?
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ECONOMICS e) Mention two sources of monopoly power.
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own words as far as practicable.
g)  Write down the condition for profitability of

price discrimination.

1.  Answer any ten questions: 2x10=20 VIS 2RIl SR WS eet {2
- TS A e wie ¢ h) What is shape of AR and MR curve in

. . Y monopoly market?
a)  What is first degree of price discrimination? POy
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b) Give examples of external economies and

. . . 1)  What is excess capacity?
diseconomies in production.
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e | j)  What do you mean by general equilibrium?
c)  Write down two characteristics of monopoly A SIS o e

market. k)  What is ‘Pareto optimality’?
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What is exchange contract curve?
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What is Edgeworth Box?
Edgeworth Box @4 & ¢

Why does price always exceed marginal cost

in monopoly?
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Define monopsony market.
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Answer any four questions: 5x4=20
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Write a short note on monopolistic

competitive market.
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Show that there is no unique supply curve for

monopolist.
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A monopolist will never be in equilibrium on
the inelastic portion of demand curve.—

Explain.
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In what way is general equilibrium analysis

more useful?
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Write a short note on Bertrand’s Duopoly
Model.
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Define public good. Why does asymmetric

information between buyers and sellers tend

to cause market failure?
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3.  Answer any two questions: 10x2=20
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1)  When is price discrimination possible?
VIS SR T A ?

i1)  When is it profitable? 5+5
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Explain diagrammatically how monopoly
causes misallocation of resources and thereby

causes loss of Social Welfare. 10
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In an economy characterized by two

consumers and two commodities, show how

general equilibrium of exchange is attained.
10
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Write a short note on Multiplant monopoly
market. 10
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